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 )نقاط 07(: التمرین الأول
  a     3H O Cl    b  

 3CH COOH 
I             1S

 2
2 32Na S O  2S 

 
2

2 3( ) 3 ( ) ( ) 2( ) 22 3aq aq S aqS O H O S SO H O     

 0t 1 100V mL  

  2 1
1 4 10 .C mol L     2 100V mL     

2C 
1 ReOx d 
2 
2        y f t   1 

  2
2 3 3y t S O H O         

 
           .y t A B x t  A B  

 
 y f t 

2Cfx 

3 1 2t  0
1 2 2

fy yy t 
 

4   1
3vol

d y t
v t

dt
  

10mint  
 

 
 
 
 
 
 
 
 
 
 



II S 3CH COOHC

60m mg100V mLpH SpH

25C3,4 
1 
2 

)/(  
 

3           
1

10 .f pH C
  

 

المعطیات  1
3 60 .M CH COOH g mol  

)نقاط 06(: ثانيالتمرین ال 
 1B 2B1m2m1m2m

 

 التجربة الأولى
 1B

f


  f K v
 

  3 17,5 10 .K kg s       



 

            a f v  

)1( 

1            1B  

 
dv A v B
dt

 AB 

1
A

 

2 a f v 

limv 1B 

1m 1B 

3        1B  

12,5 .v m s  

4 1B12,5 .v m s 

 التجربة الثانیة
 0t    2B    O   h 

 A)2( 

2 CE f y 
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1          2B 

.CE A yA 

2 CE f y 

h 

2m 2B 

Av 2B 

3 2B 

4 2B A 

29,8تعطى .g m s  
  

                                                                                                                                                                                                                    
  
 
 
  
  
  
  
  
  
  
  
  

  )نقاط07(التمرین التجریبي 
C

RLr 


 
1 

1 
 12E V 
 R 
  
 K 
  

0t  
1 

 
2  
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 2B

A

 2.a m s 

 1.v m s 

1

2

0
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3 
2 

   
R 

   
  .( ) ti t A e 

EA
R

  

1
.R C

      

  1


1


 

  1


 

 
2-  

3 
- )G(50R  Lr 
X Y   K  

K)t=0 ( X    
 Y)4( . 

1  E 
2   

   
   
r. 

3 X  L   
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 
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